
US_CA

_GLIN240400079V01

839-944V80



-2-



-3-



X1 X1 X1

X1 X1 X1

X2 X5

PPA 20+2 B 20+2 C 16+1
M6*30

D 5
M6*25 M3*12

E 2 F 14+1

G 2 H x60+6 I 8 J 2 K 2

-4-

M4*12



0201

03

x6A

x14A

C x4

Φ6x30mm

B x6x2

A

A

A A

A A

A
A

A

AA

A

A

A

A

A

A

-5-

B

C

B

C

C

C

B
B

B

B



C

C

C C

C

04

05

-6-

C x6

Φ6x30mm

B x7

C x6

Φ6x30mm

B x7

B

B

B

B

B

B

B

C
C

C

C

C

B

B

B

B

B

B

B



X2

06

07

-7-

D x5

G x2 H x8

D

D

D

D

G

H

H

D

Φ4x12mm



Φ4x12mm

Φ3x12mm

F x6

E x2

X2

09

10

F
F

-8-

E 

E 

H

H

H

H

H

J

J

x12 J x2



Φ3x12mm

X2

X2

Φ4x12mm

11

12

-9-

H

H
H

H x16

F

FF

F

F

F

x8 K

K

x2



H

H
I

H x24 I x8

13

14

Done

-10-

X8

Φ4x12mm



-11-


